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N.B. .— (1 Attempt A/l questions.

(i) Use of calculator is allowed.
(111  All questions carry equal marks.
() wd g e
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1. What is meant by utility ? Describe the ordinal utility function with its

characteristics. 10
STHIRM TS w7 HHAEh SUANM Hed d @ TUEH TR .
Or
(feram)

In a perfect competition, market price or average revenue of a firm is
AR = P = 200 — 10x is given, then find out :

(@) Total Revenue (TR)
(2) Marginal Revenue (MR)
3) Quantity Sold (x).
P.T.O.
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uieaEfdiel TehT SENTEEIR! fonmd/ TR 3791 W AR = P = 200 — 10x feret staam
TIA UM Welid 9 e

(1)  THW @ (TR)

©2) foua s@= (MR)
(3) famt TEET (x).

What is Cob-Douglas production function ? State its properties. 10

FHII-S[AH IARA Held BUS wE 7 &= fafgy qued s .
Or
(fenam)
When utility function U = 8x; - xy; price of x; is Px; = Rs. 2 and price of
Xy is Px; = Rs. 6, and budget constraint of consumer in M = Rs. 30 is given,

then find out at which quantity of x; and x, commodities utility maximization

occur.

TR wed U = 8x; - Xy x; I foad Px; = 2 % 9 x, 9=l f6ud

Px, = 6 % 9 SUHFAME Hifgsh 301 M = 30 % ool STEam #ea FHTEMERId

Xy F X TEE! WG TEEA Hifed H.
What is linear programming ? Explain its various assumptions. 10
W yASH RS w2 Qe fafay fed T .
Or
(fenam)
When demand function is X = 7 — 2P and price is P = 1 and P = 2 is given

then find out price elasticity at two different prices.

HATO Thedd X = 7 — 2P 7o ffAd P = 1 9 P = 2 3THaM HAToi=l fohAa oTafeehdn
uifed .
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4, Write short notes on any ¢wo of the following : 10
(1) Monopoly power
(11) Production function
. dQ _ -1 , T
(zziy  When E:%’ Q = 1 and P = 90, then find out elasticity of
demand (ed) ?
(zw)  When utility function of a consumer U = 10g; + 59799 and gy = 2
is given, then find out marginal utility of q;.
ETeAcTish! HIvTE gFaR e feqr forer
(1) ThIeeh STerdl
(€7)) 3G hetd
. aQ -1
§77) GITE=%,Q=13P=9031@E,HTWH°[WWW%HW.
(jv) T U WA %A U = 10g; + 5g190 9 ¢ = 2 Teo s,
g, &= fomE St Aifesd .
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